LI

%

429F

1 1429

:gf gl @l

=
[ =

3
| T

R R R R R R R R R R AR RARA R

aa/-YY

P g, on ool S8 lon 2ad pilel alf S50 T

» foy) e alel
A )

L ST
S8y AR e oyl

stE Saal R Sl

R R R R R R R A A

[ “"1&._]!.»_ &Iahﬁﬁﬂﬁwmﬁ:@hnﬂa‘_gaj”g,nﬂ ]

[ 118 S s g S50 g ]

R — T
S Al s e s afial caae VRN | FOE P

e e e

W B ylads g load o dloeiel Slaa oyl

oyleds U] aylond J1|  Jlae dluad ool Blaa wdydy
e Y T {‘_‘ua._Alﬂ'l'!-G.d.a.:'r_i g erges ol b1

wrlaly

T Y
¥ plas Coeglis ¥
ILE 4y r- Eiygbad sle il F
r &

14 1y 551 g gaige

3,18 ohie & yod (yge3l o
i jle Ol lile 3 solaiul

AR R R R RAIRA

s g focky il e gty ke by g Bl o e el o e by Lgl7 Bl gl ol polad gl pnaedf oo i 51 g ey i R gy g e il il y (o865 oy e

R IR REIRG R R R R R R R R R R R R R R R R R




HguaedSl) i § ogok b

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best complctes the blank. Then
mark the correet choice on your answer sheet.

?‘I

With the pace of life in Indian metros getting faster by the day, many of the old Indian
traditions have fallen into ---——--- and are no longer practiced.

1) indifference 2) equilibrium 3) abeyance 4) annoyance

We thought he was reliable till we realized that he had given us a - — address,

1) dishonest 2) fake 3) skeptical 4} vulnerable

His expression was gloomy at every game; I don’t think I saw him smile even when his
team ——----= a hundred points,

1) scored 2) connected 3) achieved 4) displaved

The approaching rain gave us a --—-——- excuse to escape the boring party.

1) harmless 2}y monotonous 3) secrel 4) plausible

The relationship between the earthworm and the garden is --———--- : the garden provides

a home for the earthworm, while the earthworm provides manure for the garden and
keeps it fertile.

1) impractical 2) symbiotic 3) latent 4) paradoxical

When it was discovered that he had been operating as a spy, he was badly ----———- in the
press as being a traitor.

1) incorporated 2) censured 3) concerned 4) constrained
Contemporary research into the origins of DeLong culture indicates that a hunter-
gatherer society was established about 2,000 years earlier than was --———- thought,

1) similarly 2) sufficiently 3) previously 4) accurately

An attempt was made to ignore this brilliant and irregular book, but in ———----; it was
read all over Europe.

1) jeopardy 2) chaos 3) contempt 4) vain

He strictly warned him that if he did not take the medicine in time, the pain would not
1) subside 2) degrade 3)avoid 4) collapse

To reduce —=-==-=-- , the company will no longer mail monthly paper statements to those
with access to online statements,

1) fright 2) hesitation 3) contlict 4) waste

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Becoming a mother is a major transition, points out clinical psychologist Ann
Dunnewold, (11) ---------- in Dallas, Tex.. provides support for mothers. New mothers
give up autonomy. sleep and relationships (12) ---—------ to the relentless needs of' a baby.
On top of that, they are also expected to be in a constant state of bliss and fulfillment
R their new role. “There’s a lot of pressure to be the perfect mother,
(14) -mmmmmmma they're not coping.” Leahy-Warren savs.



Making matters worse, research that demonstrates the importance of early childhood

experiences in determining future success and happiness (15) ---------- on moms to get
it right.
11- 1) practices 2) whose practice  3) practicing 4) she practices
12- 1) with tending 2)tend 3) to tend 4) that tend
13- 1)of 2) by 3)in 4) with
14- 1) and they are alraid to say 2) while afraid to say
3) but they say they are afraid of what  4) then they say afraid they are
15- 1) and additional pressure 2) add pressure
3) puts additional pressure 4) and added pressure

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or {4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

To grow crops regularly in less fertile areas, the soil must be turned to bring nutrients to the
surface. A major advance for this type of farming was the turnplough. also known as the
mouldboard plough (UK). moldboard plow (US). or frame-plough. A coulter (or skeith)
could be added to cut vertically into the ground just ahead of the share (in front of the frog),
a wedge-shaped cutting edge at the bottom front of the mouldboard with the landside of the
frame supporting the undershare (below-ground component). The upper parts of the frame
carry (from the front) the coupling for the motive power (horses), the coulter and the landside
frame. Depending on the size of the implement. and the number of furrows it is designed to
plough at one time, a fore-carriage with a wheel or wheels (known as a furrow wheel and
support wheel) may be added to support the frame (wheeled plough). In the case of a single-
furrow plough there is only one wheel at the front and handles at the rear for the ploughman
to steer and manoeuvre it. When dragged through a field the coulter cuts down into the soil
and the share cuts horizontally from the previous furrow to the vertical cut. This releases a
rectangular strip of sod that is then lifted by the share and carried by the mouldboard up and
over, so that the strip of sod (slice of the topsoil) that is being cut lifts and rolls over as the
plough moves forward. dropping back to the ground upside down into the furrow and onto
the turned soil from the previous run down the field. Each gap in the ground where the soil
has been lifted and moved across (usually to the right) is called a furrow.

16- It is stated in the passage that ------——-----
1) the landside frame is part of the moldboard plow
2) a fore-carriage is a wheel added to support the frame
3) “frog’ is the wedge-shaped edge of the mouldboard
4) the coulter links the upper parts of the frame to land



17-

20-

The passage mentions that -——---—------

1) furrows are formed by vertical gaps in the ploughed ground

2) ploughmen manoeuvre the mouldboard with a tractor

3) the action of the coulter results in rectangular strips of sod

4) coulters are special skeiths added to a share for vertical cuts

The passage points to the fact that ———-—-—--

1) mouldboards are lifted and rolled over by the share

2) the landside of a frame is a below-ground component

3) frame-ploughs are particularly used in less fertile areas

4) moldboard plows can plough up to five furrows at a time
According to the passage,------—------- -

1) furrows drop back onto one another during ploughing

2) single-furrow ploughs have only one support wheel

3) the nutrients of soil are often seen on its surface

4) coulters cut the soil upside down before the share

The word ‘implement’ in the passage (underlined) is closest to —------ -
1) “yield” 2) *land’ 3) ‘project’ 4) “equipment’

PASSAGE 2:

A telescopic handler, telehandler or teleporter is a machine widely used in agriculture
and industry. It is similar in appearance and function to a forklift but is more a crane
than forklift, with the increased versatility of a single telescopic boom that can extend
forwards and upwards from the vehicle, On the end of the boom the operator can fit one
of several attachments. such as a bucket. pallet forks, muck grab, or winch. In industry
the most common attachment for a tele-handler is pallet forks and the most common
application is to move loads to and from places unreachable for a conventional forklifi.
For example. telehandlers have the ability to remove palletised cargo from within a
trailer and to place loads on rooflops and other high places. The latter application would
otherwise require a crane, which is not always practical or time-efficient. In agriculture
the most common attachment for a tele-handler is a bucket or bucket grab, again the
most common application is to move loads to and from places unreachable for a
'conventional machine' which in this case is a wheeled loader or backhoe loadal. For
example, telehandlers have the ability to reach directly into a high-sided trailer or
hopper. The latter application would otherwise require a loading ramp. conveyor, or
similar. The telehandler can also work with a crane jib along with lifting loads, that
attachments that include on the market are dirt buckets, grain buckets, rotators, power
booms.

The agricultural range can also be fitted with three point linkage and power take-olT.
The advantage of the telehandler is also its biggest limitation: as the boom extends or
raises while bearing a load. it acts as a lever and causes the vehicle to become
increasingly unstable, despite counterweights in the rear.



21-

22-

24-

According to the passage, -————— -—

1) the most common attachment for a bucket is a bucket grab

2) a loading ramp can reach directly into a high-sided trailer

3) telescopic booms extend only backwards and forwards

4} dirt buckets have grain buckets, rotators and power booms

It is mentioned in the passage that - g

1) muck grabs can be fixed on a teleporter

2) cranes are not often time-efficient

3) the levers on a teleporter are unstable

4) forklifts act exactly like big cranes

It is stated in the passage that ——---—-ammn--

1) booms can extend without raising to bearing a load

2) telehandlers are used more widely in industry than farming
3) industrial buckets are a common attachment for tele-handlers
4) telescopic handlers have counterweights in their rear

The passage points to the fact that-----——------ -

1) telehandlers can also function as “high-sided trailers’

2) backhoe loadals are larger than wheeled loaders

3) forklifts are unable to place loads on rooftops

4) palletised cargo cannot move within a trailer

The word ‘jib’ in the passage (underlined) is best related to the word-—-—------—-
1) “bottom” 2) *arm’ 3) ‘leg’ 4) “side’

PASSAGE 3:

Unlike most bulldozers. most loaders are wheeled and not tracked. although track loaders are
common. They are successful where sharp edged materials in construction debris would
damage rubber wheels, or where the ground is soft and muddy. In construction areas loaders
are also used to transport building materials - such as bricks, pipe. metal bars, and digging
tools - over short distances, Front loaders are commonly used to remove snow especially
from sidewalks. parking lots, and other areas too small for using snowplows and other heavy
equipment. They are sometimes used as snowplows with a snowplow attachment but
commonly have a bucket or snowbasket, which can also be used to load snow into the rear
compartment of a snowplow or dump truck, High-tip buckets are suitable for light materials
such as chip, peat and light gravel and when the bucket is emptied from a height. Unlike
backhoes or standard tractors fitted with a front bucket. many large loaders do not use
automotive steering mechanisms. Instead, they steer by a hydraulically actuated pivot point
set exactly between the front and rear axles, This is referred to as "articulated steering” and
allows the front axle to be solid. allowing it to carry greater weight. Articulated steering
provides better maneuverability for a given wheelbase. Since the front wheels and attachment
rotate on the same axis, the operator 15 able to "steer" his load in an arc after positioning the
machine. The tradeotT is that when the machine is "twisted" to one side and a heavy load is
lifted high, it has a greater risk of turning over to the "wide" side. Front loaders have gained
popularity during the last two decades, especially in urban engineering projects and small
earthmoving works. Heavy equipment manufacturers offer a wide range of loader sizes and
duties.



26-

27-

28-

29-

30-

We understand from the passage that-—————---——-

1) snowplows are not normally used in parking lots

2) front loaders used to be popular in earthmoving works

3) “articulated steering’ is used only on heavy loasders

4) loaders are not as efficient as backhoes in moving objects

The passage points to the fact that--——--—---— -

1) loader’s operators usually have to “steer loads in an arc

2) high-tip buckets are made of light materials such as chip

3) articulated steering can be used on neatly any given wheelbase
4) loaders can take greater weight on their front axle than backhoes
The passage suggests that———----e-eeeeemv

1) wheeled loaders are not efficient on soft and muddy ground

2) loaders are mainly of three standard sizes with defined duties
3) attachments on a loader’s front wheels rotate on a double axis
4) there 1s little risk ol a load turning over to on side on a loader
According to the passage, --——------ —

1) snowplows are loaders with a large snowbasket on top

2) backhoes can use automotive steering mechanisms

3) hydraulically actuated pivots are set on rear axles

4) loaders are rarely “twisted” to one side. if ever

The word ‘peat’ in the passage (underlined) refers to material that is chiefly used as / for

1) “fertiliser” 2) “construction™  3) *fuel’ 4) *irrigation’
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